
BGE81−7N

BGE80−7G

Wellenlänge λ /nm Kontrast C=16:1

R2(λ)=log[R(λ)/0,20] Reflexionsfaktor
Geräte-Grün Gd    λd=535nm
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BGE80−7C

Wellenlänge λ /nm Kontrast C=16:1

R2(λ)=log[R(λ)/0,20] Reflexionsfaktor
Geräte-Cyanblau Cd    λd=489nm
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BGE80−7Y

Wellenlänge λ /nm Kontrast C=16:1

R2(λ)=log[R(λ)/0,20] Reflexionsfaktor
Geräte-Gelb Yd    λd=570nm
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Y+

BGE80−7W

Wellenlänge λ /nm Kontrast C=16:1

R2(λ)=log[R(λ)/0,20] Reflexionsfaktor
Geräte-Weiß Wd
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W+

BGE80−7B

Wellenlänge λ /nm Kontrast C=16:1

R2(λ)=log[R(λ)/0,20] Reflexionsfaktor
Geräte-Blau Bd    λd=463nm
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B+

BGE81−7N

Wellenlänge λ /nm Kontrast C=16:1

R2(λ)=log[R(λ)/0,20] Reflexionsfaktor
Geräte-Rot Rd    λd=596nm

400 500 600 700
−0,70

−0,35

0,00

0,35

0,70

λ1=
5670,200

R(λ)
0,796

0,050

R+

BGE80−7M

Wellenlänge λ /nm Kontrast C=16:1

R2(λ)=log[R(λ)/0,20] Reflexionsfaktor
Geräte-Magentarot Md    λc=535cnm
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M+ M+

Kontrast C=16:1=Rmax:Rmin
Wellenlängenbereiche für
CIE-Normlichtart D65
Rmax(λ)=0,796, Rmin(λ)=0,050
R1(λ)=log[R(λ)/0,200]


